
Задача 1.

Положительные числа a и b таковы, что a3 + b3 = ab+ 1. Докажите, что

(a− b)2 + a+ b ≥ 2.

Первое решение. Заметим, что равенство a3 + b3 = ab+ 1 эквивалентно равенству

(a2 + b)(b2 + a) = (ab+ 1)2.

Воспользуемся неравенством x+ y ≥ 2
√
xy для положительных x = a2 + b и y = b2 + a:

(a2 + b) + (b2 + a) ≥ 2
√

(a2 + b)(b2 + a) = 2(ab+ 1).

Полученное неравенство
(a2 + b) + (b2 + a) ≥ 2(ab+ 1)

равносильно (a− b)2 + a+ b ≥ 2.

Второе решение. Сделаем замену m = a− b и n = a+ b. Тогда

a3 + b3 = (a+ b)((a− b)2 + ab) = n

(
m2 +

n2 −m2

4

)
=

n2 −m2

4
+ 1 = ab+ 1.

Следовательно, S = m2(3n+ 1) + n3 − n2 − 4 = 0. Если m2 + n < 2, то, во-первых, n < 2, а во-вторых,

S < (2− n)(3n+ 1) + n3 − n2 − 4 = (n− 2)(n− 1)2 ≤ 0,

что противоречит равенству S = 0. Значит, m2 + n ≥ 2, что равносильно требуемому неравенству.

Третье решение. Сделаем замену p = a+ b и q = ab. Тогда равенство из условия равносильно равенству
p3 − 3pq = q + 1. Выразим из него q:

q =
p3 − 1

3p+ 1
. (1)

Подставляя это значение в неравенство p2 ≥ 4q, получаем неравенство p3 ≤ p2+4, откуда p ≤ 2. Подставим
теперь значение q из (1) в неравенство

(a− b)2 + a+ b ≥ 2 ⇐⇒ p2 + p ≥ 2 + 4q.

Равносильным преобразованиями приходим к

p3 − 4p2 + 5p− 2 ≤ 0,

которое верно, так как оно равносильно (p− 1)2(p− 2) ≤ 0.

Problem 1.

Positive numbers a and b satisfy a3 + b3 = ab+ 1. Prove that

(a− b)2 + a+ b ≥ 2.

First solution. Note that the equality a3 + b3 = ab+ 1 is equivalent to

(a2 + b)(b2 + a) = (ab+ 1)2.

Consider the inequality x+ y ≥ 2
√
xy for positive x = a2 + b and y = b2 + a:

(a2 + b) + (b2 + a) ≥ 2
√

(a2 + b)(b2 + a) = 2(ab+ 1).

Thus,
(a2 + b) + (b2 + a) ≥ 2(ab+ 1),
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which is equivalent to the required (a− b)2 + a+ b ≥ 2.

Second solution. Denote m = a− b and n = a+ b. Then

a3 + b3 = (a+ b)((a− b)2 + ab) = n

(
m2 +

n2 −m2

4

)
=

n2 −m2

4
+ 1 = ab+ 1.

Hence S = m2(3n+ 1) + n3 − n2 − 4 = 0. Suppose m2 + n < 2, then n < 2 and

S < (2− n)(3n+ 1) + n3 − n2 − 4 = (n− 2)(n− 1)2 ≤ 0,

which contradicts S = 0. So, m2 + n ≥ 2, which is equivalent to the required inequality.

Third solution. Let p = a + b and q = ab. The equality from the problem condition is equivalent to the
equality p3 − 3pq = q + 1, whence

q =
p3 − 1

3p+ 1
. (1)

After substitution of (1) to p2 ≥ 4q, we obtain p3 ≤ p2 + 4, whence p ≤ 2. Now substitute (1) to

(a− b)2 + a+ b ≥ 2 ⇐⇒ p2 + p ≥ 2 + 4q.

By equivalent transformations we get
p3 − 4p2 + 5p− 2 ≤ 0,

which is true since it is equivalent to (p− 1)2(p− 2) ≤ 0.

Задача 2.

Маша и Витя играют в игру на доске, имеющей форму правильного 1001-угольника. Вначале все вершины
доски белые и в одной из них стои́т фишка. На каждом ходу Маша называет произвольное натуральное
число k, затем Витя выбирает направление по или против хода часовой стрелки и сдвигает фишку в
выбранном направлении на k вершин. Если в конце хода фишка оказывается в белой вершине, эта вершина
закрашивается в красный цвет. Найдите наибольшее количество красных вершин, которого Маша может
добиться вне зависимости от действий Вити, если количество ходов не ограничено.

Решение. Ответ: 858.
Так как число 1001 нечётно, то для любых двух вершин A и B доски существует ровно одна вершина,

равноудалённая от них (она лежит на одной из двух дуг, на которые они разбивают описанную окружность
1001-угольника), эту вершину будем называть средней для A и B. Сделаем три замечания: 1) если фишка
стоит в средней для A и B вершине, то Маша может выбрать число k так, что после перемещения
Вити фишка окажется в либо в A, либо в B; 2) если Маша может выбрать число k так, что после
перемещения Вити фишка окажется в либо в A, либо в B, то в данный момент фишка находится в средней
для A и B вершине; 3) если некоторое множество M вершин совпадает с множество вершин правильного
многоугольника, то для любых двух вершин из M их средняя вершина тоже принадлежит M .

Стратегия Вити. Пусть Витя выберет произвольные 143 вершины, являющиеся вершинами правиль-
ного 143-угольника и такие, что фишка изначально не стоит ни в одной из них. Покажем, что он может
делать ходы так, что ни одна из этих вершин не станет красной. Действительно, если в некоторый момент
все эти вершины белые, то фишка не находится ни в одной из этих вершин, не находится в середине ни-
каких двух выбранный вершин, следовательно, какое бы число Маша ни выбрала, Витя сможет сдвинуть
фишку так, что она не попадёт ни в одну из выбранных им вершин. Таким образом, Витя может добиться
того, что по крайней мере 143 вершины останутся белыми, т.е. Маша не может гарантированно закрасить
более 858 вершин.

Неявная стратегия Маши. Пусть Маша последовательно повторяет следующие действия: проверка:
она выясняет, существует ли алгоритм, позволяющий ей закрасить по крайней мере одну вершину, окраска:
если такой алгоритм существует, то она придерживается его, пока не закрасит одну вершину. Предполо-
жим, что ей не удастся такими действиями закрасить все вершины. Тогда в некоторый момент времени t
есть множество W белых вершин, для которого проверка даёт отрицательный ответ. Рассмотрим наиболь-
шее по включению множество V вершин, содержащее W и обладающее следующим свойством: у Маши
нет алгоритма, позволяющего за конечное число ходов после момента t поместить фишку в хотя бы одну
вершину из V . Такое множество существует, поскольку само W обладает этим свойством, кроме того, для
каждой пары вершин из V их средняя вершина принадлежит V .
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Окончание решения. Обозначим вершины 1001-угольника через A0A1 . . . A1000 и для произвольного
целого числа n под вершиной An будем понимать вершину Ar, где r – остаток числа n при делении на 1001.
Обозначим

V = {Ai1 , Ai2 , . . . , Aiv},

где 0 ≤ i1 < i2 < . . . < iv ≤ 1000, а под iv+j , j ∈ {1, 2}, мы будем подразумевать ij +1001. По определению
множества V , для каждого s ∈ {1, . . . , v} число is + is+1

2 дробное, в частности, v нечётно. Но тогда число
is + is+2

2 целое, следовательно, средняя для Ais и Ais+2
вершина совпадает с Ais+1

, откуда вытекает, что
множество V является множеством вершин правильного многоугольника. Наименьший простой делитель
числа 1001 равен семи, поэтому, |V | ≤ 1001

7 = 143. Так как W ⊂ V , то Маша к этому моменту закрасила
по крайней мере 1001− 143 = 858 вершин.

Явная стратегия Маши. Будем вместе с Машей последовательно строить множества вершин специ-
ального вида, всегда предполагая, что, если за несколько ходов Маша может гарантированно увеличить
число красных вершин, то она сделает эти ходы незамедлительно, а потом начнёт строить все множества
заново. В любой момент времени, еслиW – произвольное множество вершин и Маша может выбрать число
k так, что после сдвига Вити фишка попадёт в вершину из W , независимо от выбранного им направления,
то такое число k назовём W -подходящим.

Обозначим через V0 множество белых вершин. Если есть хоть одно V0-подходящее число, то Маша его
выберет и после сдвига Вити количество красных вершин увеличится. Предположим что нет ни одного V0-
подходящего числа. Обозначим через V1 множество всех вершин, являющихся средними для пар вершин
из V0. Если есть хотя бы одно V0∪V1-подходящее число, то Маша выберет его и после сдвига Вити фишка
либо закрасит новую вершину, либо попадёт в какую-то из вершин V1. Во втором случае на следующем
ходу Маша сможет выбрать такое число k, что после сдвига Вити закрасится одна из вершин. Таким
образом, после одного или двух ходов количество красных вершин увеличится.

Пусть мы уже построили множества V0, V1, . . . , Vn и нет ни одного V0∪V1∪ . . .∪Vn-подходящего числа.
Аналогично предыдущему, через Vn+1 обозначим множество всех средних вершин для пар вершин из
V0 ∪ V1 ∪ . . . ∪ Vn. Если есть хотя бы одно V0 ∪ V1 ∪ . . . ∪ Vn+1-подходящее число, то Маша выберет его,
после сдвига Вити фишка попадёт в какое-то множество Vi и за последующие не более чем i ходов будет
закрашена по крайней мере одна новая вершина, так как Маша может на каждом ходу гарантированно
уменьшать номер множества, в котором лежит фишка.

Предположим, что такими построениями Маша не сможет добиться того, что все вершины будут
закрашены. Тогда последовательность V0 ⊂ V0∪V1 ⊂ V0∪V1∪V2 ⊂ . . . стабилизируется, т.е. для некоторого
неотрицательного n нет ни одного V0 ∪ V1 ∪ . . . ∪ Vn-подходящего числа и Vn+1 ⊂ V0 ∪ V1 ∪ . . . ∪ Vn = V .
Осталось заметить, что для множества V верны все рассуждения из пункта «окончание решения».

Problem 2.

Mary and Victor play the game on the board shaped like a regular 1001-gon. Initially, all vertices of the board
are white, and there is a chip at one of them. On each turn, Mary chooses an arbitrary positive integer k,
then Victor chooses a direction: clockwise or counterclockwise, and moves the chip in the chosen direction by k
vertices. If at the end of the turn the chip stands at a white vertex, this vertex is painted red. Find the greatest
number of vertices that Mary can make red regardless of Victor’s actions, if the number of turns is not limited.

Solution. Answer: 858.
Since 1001 is odd, for each pair (A,B) of vertices there exists exactly one vertex equidistant from them (the

midpoint of one of the two arcs into which they divide the circumcircle of the 1001-gon), we call this vertex the
middle A and B. Let us make three observations: 1) if the chip is in the middle of A and B, Mary can choose
k such that after Victor’s move the chip will end up in either A or B; 2) if Mary can choose k such that after
Victor’s move the chip will end up in either A or B, then at this moment the chip is in the middle of A and B;
3) if a set M of vertices coincides with the set of vertices of a regular polygon, then for each pair of vertices of
M their middle also belongs to M .

Victor’s strategy. Let Victor choose an arbitrary set of 143 vertices which coincide with the vertices of a
regular 143-gon and the chip isn’t placed at any of them. We will show that he can make his moves so that all
these vertices will remain white forever. Indeed, if at some moment all chosen vertices are white then the chip
isn’t placed at any of them, it isn’t placed at any middle of two chosen vertices, hence no matter what k Mary
will choose, Victor can move the chip so that it will end up at an unchosen vertex. Thus, Victor can guarantee
that at least 143 vertices will remain white and Mary will paint red at most 858 vertices.

Mary’s implicit strategy. Let Mary repeat the following actions: check: she finds out whether there is
an algorithm that allows her to paint red at least one new vertex, coloring: if such an algorithm exists, she
follows it until paint red a new vertex. Suppose she cannot paint red all vertices. Then at some moment t there
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exists a set W of white vertices for which the check gives a negative answer. Consider the maximal set of vertices
V such that it contains W and satisfy the following condition: Mary has no algorithm that allows her to place
the chip at at least one vertex from V in a finite number of turns after t. Such a set exists since the set W itself
satisfy this condition, moreover for every pair of vertices of V thein middle belongs to V .

End of the solution. Denote the vertices of the board by A0A1 . . . A1000 and for any integer n by An we
denote the vertexAr, where r is the remainder of n modulo 1001. Let

V = {Ai1 , Ai2 , . . . , Aiv},

where 0 ≤ i1 < i2 < . . . < iv ≤ 1000, and by iv+j , j ∈ {1, 2}, we will mean ij + 1001. By the definition of V ,
for each s ∈ {1, . . . , v} the number is + is+1

2 is not integer, in particular, v is odd. But then is + is+2

2 is integer
whence the middle of Ais and Ais+2 belongs to V , i.e. it coincides with Ais+1 . Therefore, V coincides with the
set of vertices of a regular polygon. The least prime factor of 1001 is seven, hence |V | ≤ 1001

7 = 143. Since
W ⊂ V , Mary has painted red at least 1001− 143 = 858 vertices.

Mary’s explicit strategy. Let Mary construct a set of special type and we will assume that if she can
increase the number of red vertices (using the property of the constructed set) with by a several moves, she will
make such moves and then begin to construct the set anew. At any moment if W is an arbitrary set of vertices
and Mary can choose a positive integer k such that after Victor’s move, regardless of his choice, the chip will
end up at some vertex of W , then we will say that k is W -suitable.

Denote by V0 the set of all white vertices. If there exists a V0-suitable number, Mary will choose it and after
the Victor’s move the number of red vertices will increase. Suppose no V0-suitable number exist. Denote by V1

the set of all middles of the pairs of vertices of V0. If there exists a V0 ∪ V1-suitable number, Mary will choose
it and after the Victor’s move the chip will paint some vertex red of will end up at some vertex of V1. In the
second case Mary can choose k on her next move so that after the Victor’s move some vertex of V0 will become
red. Thus, in one or two moves the number of red vertices will increase.

Assume that May has already constructed the sets V0, V1, . . . , Vn and no V0 ∪ V1 ∪ . . . ∪ Vn-suitable number
exist. Similarly to the previous, by Vn+1 we denote the set of all middles of pairs of vertices of V0∪V1∪ . . .∪Vn.
It there exists a V0 ∪ V1 ∪ . . . ∪ Vn+1-suitable number, Mary will choose it and and after the Victor’s move the
chip will end up at the vertex of some Vi and in the next no more than i turns the number of red vertices will
increase since on each turn Mary can decrease the number of the set at the vertex of which the chip ended up.

Suppose using this strategy Mary cannot paint red all vertices. Then the sequence V0 ⊂ V0∪V1 ⊂ V0∪V1∪V2 ⊂
. . . eventually stabilise, i.e. for some nonnegative integer n there exists no V0 ∪ V1 ∪ . . . ∪ Vn-suitable numbers
and Vn+1 ⊂ V0 ∪ V1 ∪ . . . ∪ Vn = V . It remains to note that for V holds true all arguments of the point «end of
the solution».

Задача 3.

Пару натуральных чисел (x, y) назовем хорошей, если x и y не делятся друг на друга, а множества простых
делителей x и y совпадают. Даны различные взаимно простые натуральные числа a и b. Докажите, что
существует бесконечно много натуральных n, для каждого из которых найдётся натуральное m такое,
что пара (an + bm, bn + am) хорошая.

Первое решение. Не ограничивая общности, пусть a > b. Известно, что найдутся натуральные x, y
такие, что ax− by = 1. По китайкой теореме об остатках найдется натуральное t такое, что

t ≡ 1− y

a
(mod b) и t ≡ 1− x

b
(mod a).

Обозначим v = x+ bt > 1 и u = y + at > 1. Тогда av − bu = 1 и (u, v) = (ab, uv) = 1. Найдётся бесконечно
много натуральных n таких, что uv | an+1 − bn+1 (достаточно брать n ≡ −1 (mod ϕ(uv))) и uan − vbn > 0
(при n > log a

b

v
u ). Тогда при m = uan − vbn > 0 верно равенство

u(an + bm) = v(bn + am)

и сравнение
an + bm = an + b(uan − vbn) = v(an+1 − bn+1) ≡ 0 (mod u).

Аналогично, bn + am ≡ 0 (mod v). Следовательно, пара (an + bm, bn + am) хорошая.

Второе решение. Не ограничивая общности, пусть a > b. Подставим m = an − bn

a− b + ab(an+1 − bn+1), где
число n выберем позже. Тогда

an + bm =
an+1 − bn+1

a− b
(1 + ab2(a− b)) и bn + am =

an+1 − bn+1

a− b
(1 + a2b(a− b)).
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Так как числа x = 1+ab2(a−b) и y = 1+a2b(a−b) взаимно просты с a, b и a−b, то существует бесконечно
много натуральных чисел n таких, что an+1 − bn+1

a− b делится на каждое из них, например, достаточно
выбирать n ≡ −1 (mod ϕ(xy)). Для каждого из этих n пара (an + bm, bn + am) хорошая.

Problem 3.

We call a pair (x, y) of positive integers good, if x and y do not divide each other, and the sets of prime divisors
of x and y coincide. Given distinct coprime positive integers a and b. Prove that there exist infinitely many
positive integers n for each of which there is a positive integer m such that the pair (an + bm, bn + am) is good.

First solution. Without loss of generality, suppose a > b. It’s well-known that there exist positive integers x, y
such that ax− by = 1. Chinese remainder theorem implies that there exists positive integer t such that

t ≡ 1− y

a
(mod b) and t ≡ 1− x

b
(mod a).

Denote v = x + bt > 1 and u = y + at > 1. Then av − bu = 1 and (u, v) = (ab, uv) = 1. There exist infinitely
many positive integers n such that uv | an+1 − bn+1 (whenever n ≡ −1 (mod ϕ(uv))) and uan − vbn > 0
(whenever n > log a

b

v
u ). Thus for m = uan − vbn > 0 we have

u(an + bm) = v(bn + am)

and
an + bm = an + b(uan − vbn) = v(an+1 − bn+1) ≡ 0 (mod u).

Similarly, bn + am ≡ 0 (mod v). These equality and congruences implies that the pair (an + bm, bn + am) is
good.

Second solution. Without loss of generality, suppose a > b. Let m = an − bn

a− b + ab(an+1 − bn+1), where the
value of n will be chosen later. Then

an + bm =
an+1 − bn+1

a− b
(1 + ab2(a− b)) and bn + am =

an+1 − bn+1

a− b
(1 + a2b(a− b)).

Since x = 1+ab2(a− b) and y = 1+a2b(a− b) are coprime to a, b and a− b, there exist infinitely many positive
integers n such that an+1 − bn+1

a− b is a multiple of both of them (choose n ≡ −1 (mod ϕ(xy))). For each such n

the pair (an + bm, bn + am) is good.
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Çàäà÷à 4.

Ó Âàñè åñòü äîñêà, íà êîòîðîé íàïèñàíî 999 ïîñëåäîâàòåëüíûõ íàòóðàëüíûõ ÷èñåë, à òàêæå 999 áóìàæåê
ñ íàäïèñÿìè "Ýòî ÷èñëî íå äåëèòñÿ íà 2 "Ýòî ÷èñëî íå äåëèòñÿ íà 3 . . . , "Ýòî ÷èñëî íå äåëèòñÿ íà 1000".
Âàñÿ ïðèêëåèò ïî îäíîé èç ñâîèõ áóìàæåê ê êàæäîìó èç ÷èñåë íà äîñêå, à çàòåì åìó äàäóò ïî êîíôåòå çà
êàæäóþ áóìàæêó, íà êîòîðîé îêàæåòñÿ âåðíîå óòâåðæäåíèå. Êàêîå íàèáîëüøåå êîëè÷åñòâî êîíôåò Âàñÿ
ñìîæåò çàðàáîòàòü, êàêîâû áû íè áûëè ÷èñëà íà äîñêå?

Ïåðâîå ðåøåíèå. Îòâåò: 998.
Åñëè ñðåäè ÷èñåë åñòü êðàòíîå 1000!, òî, î÷åâèäíî, óòâåðæäåíèå îá ýòîì ÷èñëå íå áóäåò âåðíûì.
Ïîêàæåì, êàê Âàñÿ ìîæåò ïîëó÷èòü 998 êîíôåò. Äëÿ ýòîãî îí êàæäûé ðàç áóäåò ïðèêëåèâàòü áóìàæ-

êó ñ íàäïèñüþ "Ýòî ÷èñëî íå äåëèòñÿ íà k ãäå k � êîëè÷åñòâî ÷èñåë áåç áóìàæåê, ê íàèáîëüøåìó èëè
íàèìåíüøåìó èç ýòèõ ÷èñåë. Ïðè ýòîì, î÷åâèäíî, ÷èñëà áåç áóìàæåê ïîñëå êàæäîãî õîäà Âàñè ïîñëåäî-
âàòåëüíûå, è åñëè èõ k, òî îäíî èç äâóõ êðàéíèõ íå äåëèòñÿ íà k. Òàêèì îáðàçîì Âàñÿ äîáü¼òñÿ, ÷òîáû
âñå íàäïèñè âèäà "Ýòî ÷èñëî íå äåëèòñÿ íà k"ïðè 2 ≤ k ≤ 999 áûëè âåðíû. Ê ïîñëåäíåìó îñòàâøåìóñÿ
÷èñëó îí ïðèêëåèò ïîñëåäíþþ áóìàæêó.

Âòîðîå ðåøåíèå. Òî, ÷òî Âàñÿ ìîæåò ïîëó÷èòü 998 êîíôåò, ìîæíî äîêàçàòü ïî-äðóãîìó, èñïîëüçóÿ
ëåììó Õîëëà î ïàðîñî÷åòàíèÿõ. Ñîòð¼ì ñ äîñêè ÷èñëî, êîòîðîå äåëèòñÿ íà 1000, åñëè îíî òàì åñòü, è
ëþáîå ÷¼òíîå ÷èñëî â ïðîòèâíîì ñëó÷àå. Èç ìíîæåñòâà áóìàæåê óäàëèì áóìàæêó "Ýòî ÷èñëî íå äåëèòñÿ
íà 2". Äëÿ äîêàçàòåëüñòâà óòâåðæäåíèÿ çàäà÷è äîñòàòî÷íî ïðîâåðèòü, ÷òî äëÿ êàæäûõ k ÷èñåë îò 3 äî
1000 íà äîñêå åñòü íå ìåíåå k ÷èñåë, êàæäîå èç êîòîðûõ íå êðàòíî õîòÿ áû îäíîìó èç íèõ. Ïðè k < 500
ýòî î÷åâèäíî, ïîòîìó ÷òî ó êàæäîãî ÷èñëà, áîëüøåãî 1, íà äîñêå íå áîëåå 499 êðàòíûõ; ïðè 500 ≤ k ≤ 996
� ïîòîìó, ÷òî ó ÷èñëà, íå ìåíüøåãî 500, íà äîñêå íå áîëåå äâóõ êðàòíûõ; ïðè k = 997 � ïîòîìó, ÷òî ÷èñëî,
êîòîðîå äåëèòñÿ íà 997 ÷èñåë îò 3 äî 1000, íà äîñêå ìîæåò áûòü òîëüêî îäíî; íàêîíåö, ïðè k = 998 �
ïîòîìó ÷òî íà äîñêå âîîáùå íåò ÷èñåë, êðàòíûõ 1000.

Òðåòüå ðåøåíèå. Âàñÿ ìîæåò ïîñëåäîâàòåëüíî âûáèðàòü ÷èñëà, êîòîðûå íå äåëÿòñÿ íà 2, 3, . . . , 999.
Êîãäà îí âûáèðàåò ÷èñëî, íå êðàòíîå k, óæå âûáðàíû k − 2 ÷èñëà, òî åñòü îñòàëîñü 1001− k. Êðàòíûõ k
ñðåäè íèõ ìåíüøå, ÷åì 999

k + 1, è äîñòàòî÷íî ïðîâåðèòü, ÷òî 1001 − k ≥ 999
k + 1, òî åñòü k + 999

k ≤ 1000,
÷òî âåðíî ïðè 2 ≤ k ≤ 999.

Problem 4.

Vasya has a board with 999 consecutive postive integers and 999 pieces of paper with texts "This number is not
divisible by 2 "This number is not divisible by 3 . . . , "This number is not divisible by 1000". Vasya sticks one
piece of paper to each number on the board and gets one candy for each correct statement. What maximum
number of candies can he earn, irrespective of the numbers on the board?

First solution. Answer: 998.
If one of the numbers is divisible by 1000!, the statement about this number is assuredly not correct.
We will show now how Vasya can get 998 candies. To that end, he should at every step use the paper

inscribed "This number is not divisible by k where k is the number still without papers. This paper he should
stick to the smallest or to the greatest number. In this way, after each Vasya's move the numbers still without
papers are consecutive, and if their number is k, the smallest and the largest number cannot be both divisible
by k. In this way Vasya makes correct all statements "This number is not divisible by k"for 2 ≤ k ≤ 999. The
last paper goes to the last remaining number.

Second solution. Another proof that Vasya can get 998 candies uses Hall's marriage lemma. Let us remove
the number divisible by 1000 if present on the board; otherwise, we remove any even number. We also remove
the paper saying "This number is not divisible by 2". To prove the problem statement, it is enough now to
check that for every k numbers from 3 to 1000 there are at least k numbers on the board not divisible by all of
them. If k < 500, this is obvious because every number greater than 1 has at most 499 multiples on the board;
if 500 ≤ k ≤ 996, one of k numbers is at least 500 and therefore has at most two multiples on the board; if
k = 997, there can be only one number on the board divisible by 997 numbers between 3 and 1000; �nally, for
k = 998 we note that now there are no numbers divisible by 1000 on the board.

Third solution. Vasya can choose numbers not divisible by 2, 3, . . . , 999 consecutively. When he wants a
number not divisible by k, he has already used k − 2 numbers, i.e., he still has 1001− k numbers. The number
of multiples of k among them is less than 999

k + 1 numbers, so it is enough to check that 1001 − k ≥ 999
k + 1,

that is, k + 999
k ≤ 1000, which is true for 2 ≤ k ≤ 999.
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Çàäà÷à 5.

Â îêðóæíîñòü Ω ñ öåíòðîì O âïèñàí âûïóêëûé øåñòèóãîëüíèê A1C2B1B2C1A2. Ëó÷è A1B1 è A2B2 ïå-
ðåñåêàþòñÿ â òî÷êå P , à îòðåçêè A1C1 è A2C2 � â òî÷êå Q. Îêðóæíîñòü Γ1 êàñàåòñÿ ïðÿìûõ OB1 è
OC1 â òî÷êàõ B1 è C1 ñîîòâåòñòâåííî, à îêðóæíîñòü Γ2 êàñàåòñÿ ïðÿìûõ OB2 è OC2 â òî÷êàõ B2 è C2

ñîîòâåòñòâåííî. Äîêàæèòå, ÷òî ñóùåñòâóåò ãîìîòåòèÿ ñ öåíòðîì íà ïðÿìîé PQ, ïåðåâîäÿùàÿ Γ1 â Γ2.

Ïåðâîå ðåøåíèå. Çàìåòèì, ÷òî ëó÷è C1B2 è C2B1 ïåðåñåêàþòñÿ â íåêîòîðîé òî÷êå T , ëåæàùåé âíóòðè
òðåóãîëüíèêà B1B2P . Ïðèìåíÿÿ òåîðåìó Ïàñêàëÿ ê A1B1C2A2B2C1, ïîëó÷àåì, ÷òî òî÷êà T ëåæèò íà
ïðÿìîé PQ.

OOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO

PPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPP

QQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQQ

TTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTT
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B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1B1

B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2B2

C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1C1

C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2C2

Ω

Γ1

Γ2

Ðàññìîòðèì èíâåðñèþ ñ öåíòðîì T è ðàäèóñîì
√
TB1 · TC2. Îíà ïåðåâîäèò îêðóæíîñòü Ω â ñåáÿ,

à òàêæå ìåíÿåò ìåñòàìè òî÷êà B1 è C2, òàêæå êàê è òî÷êè C1 è B2. Çíà÷èò, ýòà èíâåðñèÿ ïåðåâîäèò
îêðóæíîñòü Γ1 (ïåðïåíäèêóëÿðíóþ Ω) â îêðóæíîñòü, ïðîõîäÿùóþ ÷åðåç B2 è C2 è ïåðïåíäèêóëÿðíóþ Ω
� òî åñòü â Γ2, ïîñêîëüêó òàêàÿ îêðóæíîñòü åäèíñòâåííà.

Èòàê, íàøà èíâåðñèÿ ìåíÿåò ìåñòàìè Γ1 è Γ2, è ïîòîìó å¼ öåíòð T ÿâëÿåòñÿ òàêæå öåíòðîì ãîìîòåòèè,
ïåðåâîäÿùåé Γ1 â Γ2, ÷òî è òðåáîâàëîñü.

Âòîðîå ðåøåíèå. ×åðåç O1 è O2 îáîçíà÷èì öåíòðû îêðóæíîñòåé Γ1 è Γ2, à ÷åðåç R1 è R2 èõ ðàäèóñû
ñîîòâåòñòâåííî. Ïóñòü ïðÿìûå C1B2 è C2B1 ïåðåñåêàþòñÿ â òî÷êå T .

Èç òåîðåìû Ïàñêàëÿ, ïðèìåí¼ííîé ê A1B1C2A2B2C1, ñëåäóåò, ÷òî òî÷êà T ëåæèò íà ïðÿìîé PQ.
Äàëåå, ïðèìåíÿÿ òåîðåìó Ïàñêàëÿ ê B1B1C2C1C1B2, ïîëó÷àåì, ÷òî òî÷êè O1, T è B1C1 ∩B2C2 ëåæàò íà
îäíîé ïðÿìîé. Àíàëîãè÷íî, òî÷êè O2, T è B1C1 ∩B2C2 òàêæå ëåæàò íà îäíîé ïðÿìîé. Ñëåäîâàòåëüíî, T
ëåæèò íà ïðÿìîé O1O2. Èç ïîñòðîåíèé ïîíÿòíî, ÷òî T ëåæèò íà îòðåçêå O1O2.

Òåïåðü ∠O1B1T = ∠B2B1T − ∠B2B1O1 = ∠B2A2C2 − ∠B2A2B1 = ∠B1C2O2. Çíà÷èò,

O2C2

O2T
=

sin∠O2TC2

sin∠TC2O2
=

sin∠B1TO1

sin∠O1B1T
=

O1B1

O1T
=⇒ R1

R2
=

O1B1

O2C2
=

O1T

O2T
.

Ñëåäîâàòåëüíî, T ÿâëÿåòñÿ öåíòðîì ãîìîòåòèè, ïåðåâîäÿùåé Γ1 â Γ2.

Problem 5.

A convex hexagon A1C2B1B2C1A2 is inscribed in a circle Ω centered at a point O. The rays A1B1 and A2B2

intersect at P , and the segments A1C1 and A2C2 intersect at Q. A circle Γ1 is tangent to the lines OB1 and OC1

at points B1 and C1, respectively; similarly, a circle Γ2 is tangent to the lines OB2 and OC2 at points B2 and C2,
respectively. Prove that there exists a homothety centered at a point on the line PQ, and turning Γ1 into Γ2.

First solution. Notice that the rays C1B2 and C2B1 meet at some point T inside the triangle B1B2P . By
Pascal's theorem applied to A1B1C2A2B2C1, the point T lies on the line PQ.
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Ω

Γ1

Γ2

Consider the inversion with center T with radius
√
TB1 · TC2. It preserves the circle Ω; moreover, it swaps B1

and C2, as well as C1 and B2. Hence the inversion maps the circle Γ1 (which is perpendicular to Ω) to a circle
through B2 and C2 perpendicular to Ω, that is � to Γ2, since such circle is unique.

Hence the inversion swaps Γ1 and Γ2, and .thus its center T is also a center of a homothety mappint Γ1

into Γ2, as desired.

Second solution. We denote the centres of the circles Γ1, Γ2 by O1, O2, and their radii R1, R2, respectively.
Let T be the point of intersection of the lines C1B2 and C2B1.

Applying Pascal's theorem to A1B1C2A2B2C1 we see that T lies on the line PQ. Then, applying Pascal's
theorem to B1B1C2C1C1B2 we see that O1, T , and B1C1∩B2C2 are collinear. Similarly, O2, T , and B1C1∩B2C2

are also collinear. Therefore T lies on the line O1O2. It is seen from the way T is constructed that it belongs to
the segment O1O2.

Now ∠O1B1T = ∠B2B1T − ∠B2B1O1 = ∠B2A2C2 − ∠B2A2B1 = ∠B1C2O2. Hence

O2C2

O2T
=

sin∠O2TC2

sin∠TC2O2
=

sin∠B1TO1

sin∠O1B1T
=

O1B1

O1T
=⇒ R1

R2
=

O1B1

O2C2
=

O1T

O2T
.

Therefore, T is the centre of the homothety mapping Γ1 to Γ2.

Çàäà÷à 6.

Äëÿ öåëîãî n > 1 îáîçíà÷èì ÷åðåç Sn ìíîæåñòâî âñåõ ïåðåñòàíîâîê ÷èñåë 1, 2, . . . , n, òî åñòü ìíîæåñòâî
âñåõ âçàèìíî îäíîçíà÷íûõ îòîáðàæåíèé σ : {1, 2, . . . , n} → {1, 2, . . . , n}. Ïàðó öåëûõ ÷èñåë (a, b), ãäå 1 ≤
a < b ≤ n, íàçîâ¼ì ðàñøèðÿþùåéñÿ äëÿ ïåðåñòàíîâêè σ ∈ Sn, åñëè |σ(a)− σ(b)| ⩾ |a− b|.

(à) Âåðíî ëè, ÷òî ïðè ëþáîì öåëîì n > 1 íàéäåòñÿ ïåðåñòàíîâêà σ ∈ Sn, äëÿ êîòîðîé êîëè÷åñòâî
ðàñøèðÿþùèõñÿ ïàð ìåíüøå, ÷åì 1000n

√
n? (2 áàëëà)

(á) Ñóùåñòâóþò ëè öåëîå n > 1 è ïåðåñòàíîâêà σ ∈ Sn òàêèå, ÷òî êîëè÷åñòâî ðàñøèðÿþùèõñÿ ïàð
äëÿ σ ìåíüøå, ÷åì 1

1000n
√
n? (5 áàëëîâ)

Îòâåò. (à) Äà, ñóùåñòâóåò. (á) Íåò, íå ñóùåñòâóþò.

Ðåøåíèå. (à) Ïðè êàæäîì n > 1 ìû ïðåäúÿâèì ïåðåñòàíîâêó, óäîâëåòâîðÿþùóþ òðåáóåìûì óñëîâèÿì.
Ïóñòü k = ⌊

√
n⌋; òîãäà n− k2 ⩽ 2k. Ïîëîæèì σ(a) = a ïðè âñåõ a > k2. Êàæäîå a ⩽ k2 åäèíñòâåííûì

îáðàçîì ïðåäñòàâëÿåòñÿ â âèäå a = 1+ i+kj, ãäå 0 ⩽ i, j ⩽ k−1. Èñïîëüçóÿ ýòî ïðåäñòàâëåíèå, îïðåäåëèì

σ(1 + i+ kj) =

{
1 + i+ (k − 1)j, if i < k − 1;

1 + k(k − 1) + j, if i = k − 1.

Ëåãêî ïðîâåðèòü, ÷òî ïîñòðîåííîå îòîáðàæåíèå ÿâëÿåòñÿ ïåðåñòàíîâêîé.
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Òåïåðü, åñëè ÷èñëà 1 ⩽ a < b ⩽ k2 ïðåäñòàâëÿþòñÿ êàê a = 1 + i+ kj è b = 1 + ℓ+ km, ïðè÷¼ì j < m,
à i è ℓ îòëè÷íû îò k − 1, òî

|σ(a)− σ(b)| = σ(b)− σ(a) = (ℓ− i) + (k − 1)(m− j) < (ℓ− i) + k(m− j) = |a− b|,

òàê ÷òî ïàðà (a, b) � íå ðàñøèðÿþùàÿñÿ. Òàêèì îáðàçîì, ëþáàÿ ðàñøèðÿþùàÿñÿ ïàðà (a, b) óäîâëåòâîðÿåò
îäíîìó èç òð¼õ óñëîâèé: (1) a èëè b áîëüøå k2; (2) a = 1 + i + kj è b = 1 + ℓ + km, ãäå õîòÿ áû îäíî èç
÷èñåë i è ℓ ðàâíî k − 1; (3) a = 1 + i+ kj è b = 1 + ℓ+ km, ãäå j = m.

Èòàê, îáùåå êîëè÷åñòâî ðàñøèðÿþùèõñÿ ïàð íå ïðåâîñõîäèò

2(n− k2)n+ k · k2 + k

(
k

2

)
⩽ 4kn+ k3 +

k3

2
< 10n

√
n,

÷òî è òðåáîâàëîñü.

(á) Ìû ïîêàæåì, ÷òî äëÿ ëþáîãî öåëîãî n > 1 è ëþáîé σ ∈ Sn êîëè÷åñòâî ðàñøèðÿþùèõñÿ ïàð äëÿ

íå¼ áîëüøå, ÷åì 1
1000n

√
n. Çàìåòèì, ÷òî âñå ïàðû âèäà (i, i+ 1) ðàñøèðÿþùèåñÿ, òàê ÷òî ýòî êîëè÷åñòâî

íå ìåíüøå n − 1, à ýòî ÷èñëî áîëüøå 1
1000n

√
n, ñêàæåì, ïðè âñåõ n ⩽ 1000. Èòàê, äàëåå ìû ñ÷èòàåì, ÷òî

n > 1000. Ïîëîæèì m = n+ 1
2 .

Îïðåäåëèì ðàíã öåëîãî ÷èñëà 1 ⩽ a ⩽ n êàê R(a) = |a −m|. Îáîçíà÷èì ÷åðåç C(a) = R(σ(a)) − R(a)
èçìåíåíèå ðàíãà ÷èñëà a ïîä äåéñòâèåì σ. Äàëüíåéøåå ðåøãåíèå ðàçáèâàåòñÿ íà äâà ñëó÷àÿ, â çàâèñèìîñòè
îò çíà÷åíèÿ ñóììû

Σ =

n∑
a=1

|C(a)| = Σ+ +Σ−, ãäå Σ+ =
∑

a : C(a)⩾0

C(a) è Σ− =
∑

a : C(a)<0

|C(a)|.

Çàìåòèì ñðàçó, ÷òî ñóììà âñåõ ÷èñåë âèäà C(a) íóëåâàÿ, òî åñòü 0 = Σ+ − Σ−, è ïîòîìó Σ+ = Σ− = 1
2Σ.

Ñëó÷àé 1: Σ > 1
2n

√
n. Â ýòîì ñëó÷àå âîñïîëüçóåìñÿ ñëåäóþùåé íåñëîæíîé ëåììîé.

Ëåììà. Ïðåäïîëîæèì, ÷òî C(a) ⩾ 0, Òîãäà ÷èñëî a ó÷àñòâóåò õîòÿ áû â C(a) ðàñøèðÿþùèõñÿ ïàðàõ.

Äîêàçàòåëüñòâî. Çàìåòèì, ÷òî |a − b| ⩽ |a − m| + |b − m| ⩽ R(a) + (m − 1) ïðè ëþáûõ a è b. Áåç
îãðàíè÷åíèÿ îáùíîñòè, ìîæíî ñ÷èòàòü, ÷òî σ(a) ⩽ m, òî åñòü R(σ(a)) = m − σ(a). Òåïåðü ïðè ëþáîì b
òàêîì, ÷òî σ(b) ⩾ n− C(a), èìååì

|σ(b)− σ(a)| ⩾ σ(b)− σ(a) ⩾ n− C(a)−m+R(σ(a)) = R(a) + (m− 1) ⩾ |a− b|,

òî åñòü ÷èñëà a è b îáðàçóþò ðàñøèðÿþùóþñÿ ïàðó, åñëè òîëüêî b ̸= a. Êîëè÷åñòâî b òàêèõ, ÷òî σ(b) ⩾
n− C(a), ðàâíî C(a) + 1, ïîýòîìó ìû íàøëè õîòÿ áû C(a) ðàñøèðÿþùèõñÿ ïàð, ñîäåðæàùèõ a.

Ïîñêîëüêó êàæäàÿ ðàñøèðÿþùàÿñÿ ïàðà ñîñòîèò èç äâóõ ÷èñåë, ñîãëàñíî ëåììå ïîëó÷àåì, ÷òî êîëè-
÷åñòâî ðàñøèðÿþùèõñÿ ïàð íå ìåíüøå, ÷åì 1

2Σ+ = 1
4Σ ⩾ 1

8n
√
n, ÷òî è òðåáîâàëîñü.

Ñëó÷àé 2: Σ < 1
2n

√
n. Îáîçíà÷èì

Di = {a : |C(a)| = i} è di = |Di|.

Çàìåòèì, ÷òî
n
√
n

2
> Σ =

∑
i

idi ⩾
√
n

∑
i⩾

√
n

di, îòêóäà n′ :=
∑
i<

√
n

di >
n

2
.

Äàëåå, äëÿ ëþáîãî a ∈ Di èìååì |σ(a)−m| = |a−m| ± i, èëè

σ(a) ∈ {a+ i, a− i, 2m− a+ i, 2m− a− i}. (1)

Ðàçîáü¼ì ìíîæåñòâî Di íà ÷åòûðå ïîäìíîæåñòâà, Di = Di,1 ⊔ Di,2 ⊔ Di,3 ⊔ Di,4, òàê, ÷òî çíà÷åíèÿ σ íà
÷èñëàõ èç îäíîãî ïîäìíîæåñòâå óäîâëåòâîðÿþò îäíîé è òîé æå ôîðìóëå â (2), òî åñòü

a ∈ Di,1 ⇒ σ(a) = a+ i; a ∈ Di,2 ⇒ σ(a) = a− i;

a ∈ Di,3 ⇒ σ(a) = 2m− a+ i; a ∈ Di,4 ⇒ σ(a) = 2m− a− i.

Òàêèì îáðàçîì, åñëè äâà ÷èñëà a < b ëåæàò â îäíîé ÷àñòè Di,j , òî |σ(a) − σ(b)| = |a − b|, òàê ÷òî ïàðà
(a, b) ðàñøèðÿþùàÿñÿ.
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Îáîçíà÷èì di,j = |Di,j | è k = ⌈
√
n⌉. Òîãäà êîëè÷åñòâî íàéäåííûõ ðàñøèðÿþùèõñÿ ïàð åñòü

∑
i<

√
n

4∑
j=1

(
di,j
2

)
=

1

2

∑
i<

√
n

4∑
j=1

d2i,j −
1

2

∑
i<

√
n

4∑
j=1

di,j ⩾
1

2 · 4k

 ∑
i<

√
n

4∑
j=1

di,j

2

−
∑
i<

√
n

4∑
j=1

di,j

=
n′2

8k
− n′

2
=

n′(n′ − 4k)

8k
⩾

n/2 · n/4
16
√
n

⩾
n
√
n

128
,

÷òî è òðåáîâàëîñü.

Problem 6.

For an integer n > 1, let Sn denote the set of permutations of the numbers 1, 2, . . . , n, i.e., the set of all one-to-
one maps σ : {1, 2, . . . , n} → {1, 2, . . . , n}. We say that a pair of integers (a, b) with 1 ≤ a < b ≤ n is expanding
for a permutation σ ∈ Sn if |σ(a)− σ(b)| ≥ |a− b|.

(a) Determine whether for every integer n > 1 there exists a permutation σ ∈ Sn such that the number of
expanding pairs for σ is smaller than 1000n

√
n. (2 points)

(b) Do there exist an integer n > 1 and a permutation σ ∈ Sn such that the number of expanding pairs for
σ is smaller than 1

1000n
√
n? (5 points)

Answer. (a) Yes, it exists. (b) No, they do not exist.

Solution. (a) For every n > 1, we present a permutation satisfying the required conditions.
Put k = ⌊

√
n⌋; then n − k2 ≤ 2k. Set σ(a) = a for all a > k2. Every a ≤ k2 is uniquely represented as

a = 1 + i+ kj, where 0 ≤ i, j ≤ k − 1. Using this notation, we de�ne

σ(1 + i+ kj) =

{
1 + i+ (k − 1)j, if i < k − 1;

1 + k(k − 1) + j, if i = k − 1.

It is easy to see that the de�ned map σ is indeed a permutation.
Now, if numbers 1 ≤ a < b ≤ k2 have representations a = 1 + i+ kj and b = 1 + ℓ+ km with j < m, then

|σ(a)− σ(b)| = σ(b)− σ(a) = (ℓ− i) + (k − 1)(m− j) < (ℓ− i) + k(m− j) = |a− b|,

so the pair (a, b) is not expanding. Hence a pair (a, b) with 1 ≤ a < b ≤ n may happen to be expanding only in
the following three cases: (1) b > k2; (2) a = 1+ i+ kj and b = 1+ ℓ+ km, where either i or ℓ equals k− 1; (3)
a = 1 + i+ kj and b = 1 + ℓ+ km, where j = m.

So the total number of expanding pairs does not exceed

(n− k2)n+ k · k2 + k

(
k

2

)
≤ 2kn+ k3 +

k3

2
< 10n

√
n,

as desired.

(b) We show that for every n > 1 and every σ ∈ Sn the number of expanding pairs is at larger than
1

1000n
√
n. Notice that all pairs of the form (i, i + 1) are expanding, so this number is at least n − 1 which is

larger than 1
1000n

√
n, say, for all n ≤ 1000. So we may assume that n > 1000. Set m = n+ 1

2 .

For an integer 1 ≤ a ≤ n de�ne its rank as R(a) = |a − m|. Let C(a) = R(σ(a)) − R(a) denote the rank

change of a under σ. The further argument is split into two cases, according to the value of the sum

Σ =

n∑
a=1

|C(a)| = Σ+ +Σ−, where Σ+ =
∑

a : C(a)≥0

C(a) and Σ− =
∑

a : C(a)<0

|C(a)|.

Notice here that the sum of all the C(a) vanishes, i.e., 0 = Σ+ − Σ−, so Σ+ = Σ− = 1
2Σ.

Case 1: Σ > 1
2n

√
n. In this case, we implement the following simple

Lemma. Assume that C(a) ≥ 0, Then a is a member of at least C(a) expanding pairs.

Proof. Notice that |a− b| ≤ |a−m|+ |b−m| ≤ R(a)+ (m− 1) for every a and b. Without loss of generality,
we may assume that σ(a) ≤ m, so R(σ(a)) = m− σ(a). Then for every b with σ(b) ≥ n− C(a) we have

|σ(b)− σ(a)| ≥ σ(b)− σ(a) ≥ n− C(a)−m+R(σ(a)) = R(a) + (m− 1) ≥ |a− b|,

5



so the numbers a and b form an expanding pair whenever b ̸= a. There are C(a) + 1 values of b with σ(b) ≥
n− C(a), hence at least C(a) expanding pairs containing a have been found.

Due to the Lemma, since each expanding pair consists of two numbers, the number of expanding pairs is at
least 1

2Σ+ = 1
4Σ ≥ 1

8n
√
n, as desired.

Case 2: Σ < 1
2n

√
n. Denote

Di = {a : |C(a)| = i} and di = |Di|.

Notice that
n
√
n

2
> Σ =

∑
i

idi ≥
√
n

∑
i≥

√
n

di, whence n′ :=
∑
i<

√
n

di >
n

2
.

Next, for every a ∈ Di we have |σ(a)−m| = |a−m| ± i, so

σ(a) ∈ {a+ i, a− i, 2m− a+ i, 2m− a− i}. (2)

Split the set Di into four parts, Di = Di,1 ⊔Di,2 ⊔Di,3 ⊔Di,4, so that the values of σ on all numbers in one
part satisfy the same choice in (2), i.e.,

a ∈ Di,1 ⇒ σ(a) = a+ i; a ∈ Di,2 ⇒ σ(a) = a− i;

a ∈ Di,3 ⇒ σ(a) = 2m− a+ i; a ∈ Di,4 ⇒ σ(a) = 2m− a− i.

Thus, if two numbers a < b belong to the same part Di,j , then |σ(a) − σ(b)| = |a − b|, so the pair (a, b) is
expanding.

Denote di,j = |Di,j | and k = ⌈
√
n⌉. Then the number of expanding pairs we have found is

∑
i<

√
n

4∑
j=1

(
di,j
2

)
=

1

2

∑
i<

√
n

4∑
j=1

d2i,j −
1

2

∑
i<

√
n

4∑
j=1

di,j ≥
1

2 · 4k

 ∑
i<

√
n

4∑
j=1

di,j

2

−
∑
i<

√
n

4∑
j=1

di,j

=
n′2

8k
− n′

2
=

n′(n′ − 4k)

8k
≥ n/2 · n/4

16
√
n

≥ n
√
n

128
,

as desired.
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